Interval Data Collection Summary Instructions

The biggest challenge is that there are so many ways to summarize the data that can you be
overwhelmed. Once you learn the basic approach you can then adjust this process to answer
guestions specific to a particular student or situation.

There really are way more comparison possible than you will probably ever use, but | like have
the flexibility to adapt to a variety of students and situations. Once you get comfortable with
the more traditional comparisons you will be able to come up with several other ones. You can
if you want to be really tricky look at patterns for Antecedent-Behavior-Consequences but this
is harder to do and harder to find clear patterns.

When you describe you summaries you should use Percent of Intervals. Since interval systems
are estimates and not the actual amount of time it isn’t a percent.

Behavior Only

1. Percent Appropriate — The number of times 1 was scored in the Behavior row divided by
the total number of intervals. For example, the student was coded 1 (appropriate) for 22
of the intervals. If you use a full sheet there are 60 intervals. So the percent of intervals
of appropriate behavior would be 22/60 x 100 = 36%.

2. You can repeat this for each of the behavior categories although sometimes | will
calculate three behaviors categories — Appropriate, Not Engaged and Problem (all other
categories combined).

3. If you have a particular behavior concern, such as talking, then calculate this as it owns
category (i.e., Percent of Intervals Talking).

Behavior- Consequence Relationship

1. To summarize the relationship across the three categories (Antecedent, Behavior,
Consequence) you follow a similar procedure as above. However, this time you count
the number of times the two rows are coded as a pattern.

2. For example, if you want to know the likelihood that a student will receive adult
attention for different behaviors you count the number of times that the student was
coded 1 (appropriate) followed by 1 (no response) then as above divided by the number
of total intervals observed and multiple by 100 to determine the percent of intervals. It
sounds harder than it is when you actually do this.

3. Repeat the process above for Behavior for 1 (appropriate) followed by 2 (teacher
attention).

4. Repeat steps 2 and 3 for other student behaviors 2 (not engaged) and 3-7
(inappropriate).

5. Now you can compare the likelihood that student will receive attention from the
teacher when their appropriate as compared to when they inappropriate.
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6. You can do this same basic comparison for peer attention and/or for other student
behavior

Antecedents-Behavior Relationship

1. You can use the Antecedent codes to determine how many percent of intervals are
spent in each of the antecedent codes

2. You can also use the similar format to look for patterns in Antecedent — Behavior
patterns. For example, what is the likelihood that the student will be appropriate during
whole class instruction, compared to transition, compared to independent work
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Student Teacher Date
Antecedents Behaviors Consequences
1= Whole class 1=Appropriate 1=No response
Instruction 2=Not engaged 2=Teacher attention (+/-)
2= Difficult task 3= Disruptive 3=Peer attention (+/-)
3=Transition 4=Non-compliant 4=Removal from area

4=|nterruption
5=Independent work
6=Peer attention (+/-)
7=Teacher attention (+/-)
8=

5=Threat/Verbal abuse
6=Talking
7=Inappropriate location
8=

5=Decreased demand
6=

Context/Setting description:
1 2 3 4 5
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Student Behavior

1. Appropriate Behavior
Tally all the 1’s and divide by the total number of intervals observed, multiple by 100.

/ = x 100 = Percent of Intervals Appropriate Behavior
2.  Not Engaged

Tally all the 2’s and divide by the total number of intervals observed, multiple by 100.

/ = x 100 = Percent of Intervals Not Engaged Behavior
3. Inappropriate Behavior

Tally all the 3-7’s and divide by the total number of intervals observed, multiple by 100.

/ = x 100 = Percent of Intervals Inappropriate Behavior
* You can calculate each inappropriate behavior separately if you want, or combine into a response class, or...
A
Attention for Appropriate Behavior B
C

1. Adult Attention for Appropriate Behavior
Tally all the 1/2's and divide by the total number of intervals behavior was appropriate, multiple by 100.

/ = x 100 = Percent of Intervals Adult Attention for Appropriate Behavior
2. Peer Attention for Appropriate Behavior

Tally all the 1/3’s and divide by the total number of intervals behavior was appropriate, multiple by 100.

/ = x 100 = Percent of Intervals Peer Attention for Appropriate Behavior
3. No Attention for Appropriate Behavior

Tally all the 1/1’s and divide by the total number of intervals behavior was appropriate, multiple by 100.

/ = x 100 = Percent of Intervals No Attention for Appropriate Behavior

Attention for Not Engaged

1. Adult Attention for Not Engaged Behavior
Tally all the 2/2's and divide by the total number of intervals behavior was not engaged multiple by 100.

/ = x 100 = Percent of Intervals Adult Attention for Not Engaged
2. Peer Attention for Not Engaged Behavior

Tally all the 2/3’s and divide by the total number of intervals behavior was not engaged, multiple by 100.

/ = x 100 = Percent of Intervals Peer Attention for Not Engaged
3. No Attention for Not Engaged Behavior
Tally all the 2/1’s and divide by the total number of intervals behavior was not engaged, multiple by 100.

/ = x 100 = Percent of Intervals No Attention for Not Engaged

Attention for Inappropriate Behavior

1. Adult Attention for Inappropriate Behavior
Tally all the 3-7/2's and divide by the total number of intervals behavior was inappropriate, multiple by 100.
/ = x 100 = Percent of Intervals Adult Attention for Inappropriate Behavior
* You can calculate each inappropriate behavior separately if you want, or combine into a response class, or...
2. Peer Attention for Inappropriate Behavior
Tally all the 3-7/3’s and divide by the total number of intervals behavior was inappropriate, multiple by 100.
/ = x 100 = Percent of Intervals Peer Attention for Inappropriate Behavior
* You can calculate each inappropriate behavior separately if you want, or combine into a response class, or...
3. No Attention for Inappropriate Behavior
Tally all the 3-7/1’s and divide by the total number of intervals behavior was inappropriate, multiple by 100.
/ = x 100 = Percent of Intervals No Attention for Inappropriate Behavior
* You can calculate each inappropriate behavior separately if you want, or combine into a response class, or...
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